
Turntable   Spare Parts List TD 215 R D 
 

---- 

 Subject to technical modifications. 18.03.2019 
 

TÜNKERS
®
 Maschinenbau GmbH Am Rosenkothen 8 • D-40880 Ratingen           Tel. 02102 4517-0 • Fax 02102 445808 Internet www.tuenkers.de 

 

Spare Parts     

Pos. Part no. Quantity Description Type  

1.1 362946 1 base plate  TD 215 R  

1.2 362953 1 top plate TD 215 R  

1.3 362968 1 side sheet  TD 215 R  

1.4 362959 1 side sheet  TD 215 L/R  

1.5 362973 1 stop  TD 215 R  

1.6 362979 1 bearing retainer  TD 215   

1.7 362981 1 bush  TD 215   

1.8 362985 1 flange  TD 215   

1.9 363039 1 rotary plate  TD 215 R  

1.10 363050 1 flange TD 215   

1.11 362974 1 stop  TD 215   

1.12 363053 1 connection  TD 215 R  

1.13 363060 1 stop  TD 215 R  

1.14 363117 1 stop  TD 215   

1.15 363118 1 stop  TD 215   

1.16 218604 6 adaptor plate  AP 4320  

1.17 265992 6 shim 50 x 20 x 0.5 801.003-03.006.04  

1.18 1269919 1 cross roller bearing  RU 85 UU CCO  

1.19 1269939 1 Y bearing unit  PFD 35 FM  

1.20 1269943 1 set screw  DIN 417-M12x30-14H  

1.21 200708 1 hexagon nut DIN 934-M12-8  

1.22 209974 4 dowel pin  DIN 7979-D-6m6x24-St  

1.23 226900 2 dowel pin  DIN 7979-D-6m6x28-St  

1.24 230819 1 dowel pin  DIN 7979-D-8m6x36-S  

1.25 222807 2 dowel pin  DIN 7979-D-8m6x45-St  

1.26 200413 8 cap screw DIN 6912-M5x12-8.8  

1.27 200149 16 cap screw DIN 912-M5x25-10.9  

1.28 200173 2 cap screw DIN 912-M6x25-10.9  

1.29 200177 2 cap screw DIN 912-M6x30-8.8-vz  

1.30 200216 2 cap screw DIN 912-M8x12-10.9  

1.31 200217 5 cap screw DIN 912-M8x16-10.9  

1.32 200219 10 cap screw DIN 912-M8x20-10.9  

1.33 200221 1 cap screw DIN 912-M8x25-10.9  

1.34 200975 24 lock washer  S 5-F.St  

1.35 200976 4 lock washer  S 6-F.St  

1.36 200977 18 lock washer  S 8-F.St  

      

2.1 469213 1 ACE small shock absorver  SC650EUM-14208  

2.2 418653 1 clamping flange  MB 25 SC2 M25x1,5  

2.3 363058 1 stop  TD 215 R  

2.4 200221 1 cap screw DIN 912-M8x25-10.9  

2.5 200228 2 cap screw DIN 912-M8x45-10.9  

2.6 200977 3 lock washer  S 8-F.St  

3 1270339 1 V 63.1  BR2 A05 T00 135°  

      

4.1 281344 1 limit switch set complete V 63.1 BR2 T12 P+F  

4.2 200484 1 countersunk screw DIN 7991-M5x10-8.8  

5 273546 1 flange complete K 63 A10  
 

 
 

  
              
 
 



Drehtisch   Ersatzteilzeichnung TD 215 R D 
 

---- 

 Subject to technical modifications. 18.03.2019 
 

TÜNKERS
®
 Maschinenbau GmbH Am Rosenkothen 8 • D-40880 Ratingen           Tel. 02102 4517-0 • Fax 02102 445808 Internet www.tuenkers.de 

 

 
 
 
 
 


